
License Plate Brace
    F650GS/ Dakar

 

February 2002

Parts included:
1 x license plate reinforcement 
2 x allen screw M6x35 
2 x screw caphead M6x20 
2 x spacer 
4 x nut locking M6 
6 x washer large M6 
2 x washer small M6

01-051-1202-0

Mounting:
Exchange the two marked screws on the inside of the 
luggage compartment for the two enclosed allen screws 
M6x35 with one large M6 washer each. You must fully 
tighten these two screws before further mounting, since 
the screws fit in threaded mounts in the subframe and
cannot be pulled tight later.
The screws should now come through the bottom surface 
far enough to mount the license plate reinforcement.

Insert the spacers on the two screws. The license 
plate reinforcement is installed as shown with the 
two long holes above.  The screws are fastened 
with two lock nuts and with one large M6 washer 
each. Leave the two nuts loose until all bolts are 
installed. The two caphead screws use the holes 
behind the license plate with one large M6 washer 
each and a lock nut to mount the reinforcements 
lower holes

Check all bolt connections at regular intervals.
 

No additional holes are needed!!

TOURATECHTOURATECH
TOU R A TECHRING   ALLYE   R CING    NOLOGY

This guidance is written after our present level of knowledge.   Legal requirements on correctness do not exist.   Technical subject to change.   


